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phagavad Gita was said to have been

" compiled by
(A) Shankaracharya (B) Madvacharya

(C) Veda Vyasa (D) Vallabhacharya

What is the nature of the image formed due
to concave mirror when object is placed
beyond centre of curvature ?

(A) Real and inverted
(B) Virtual and erect
(C) Real and erect
(D) Virtual and inverted

3. During heavy exercise, we get cramps in
the legs due to the accumulation of
(A) Carbon dioxide (B) Lactic acid
(C) Alcohol (D) Water

4. Sodium hydrogencarbonate on heating
produces
(A) Sodium hydroxide
(B) Sodium oxide
(C) Sodium carbonate
(D) Sodium

5. The land cultivated by Kurus was called as
(A) Bahudhanyaka (B) Adiroopa
(C) Prajotpathi (D) Angeerasa

6. An instrument for measuring the speed of
wind is
(A) Odometer
(B) Speedometer
(C) Anemometer
(D) Barometer

7. After Gupta dynasty, in the middle of
Sixth Century AD, established
supremacy over Punjab.

(A) Pallavas

" (B) Gujarat
(C) Kadambas
(D) Huns'
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1.

12,

13.

14.

i

Otlike the othe,

(B) 1100
@) 1119

o, Haryana is the first State to launch
(A) Satellite
(5) Mahila Poljce Volunteer
(C) Kissan Budget
(D) Aryabhat

10. Cons‘i‘der the following with reference to the
term Sovereign State”.

*) A.Coumry can be a sovereign with or
without dominion of any other nation

(B) Sovereignty is compromised while
getting membership in the UNO

(C) Both are right
(D) None

Solutions of the equation
V5x2 —8x +3+/5 =0 are

. ,
A) V5, — B) 5,3
(A) 7 (B)

(C) 5,35

Prabhakara Vardhana, the first king of
Vardhana dynasty was the ruler of

(A) Thanesar (B) Kurukshetra
(C) Geeta Vardhana (D) Patna

(D) 4,2

Which of the following Article provides that,
‘The State shall not discriminate against
any citizen on grounds only of religion, race,
caste, sex, place of birth or any of them’ ?

(A) 13 (B) 14
(C) 15 (D) 16

Governor acts as the nominal head and the real
power of administration of the state lies with

(A) Prime Minister (B) President
(C) Chief Minister (D) People
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4/2018 (1) (M10)
8. g Ty 7rd o fehedi # 3T
T 8

(A) 1001 (8) 1100
(C) 1010 @) 1110 e
9. gftmvn___,_——f—%‘a
T &l
3908 ;
&) wfeen R AT
(¢) feram &Isie
(D) TAYE _
1o, ey e ¥R & g # FrefeEd
" ot s 2 g T
T forT Gy & R
(B) waﬁﬁmﬂmmﬁmw
3 gty gueitar ferat ST dehdl
(c) aFiEER
(D) IS TR
11, /Bx? — 8x + 34/5 = 0 THIHW %
3
(A) JE,TE (B) 5,3
(C) 5,35 (D) 4,2
12. MR, T IR IEAT ST
T I o7
(A) ARET (B) FeaE
(¢) Tiar agH (D) e
13. F=fafad & & HH-91 3TJ<88 IauH Gl
? o5 =g v, 9w, fom, snfa, Scafa & s
% YR G Tt Tmifer <Al Siferd =& s ?
(A) 13 (B) 14 '
(C) 15 Q) 16
14. mem%mﬁmm%aﬂt
mm?ﬁmﬁzﬁmﬁr-wﬁﬁ%ﬁ
(A) e (B) gl
(€) gEEHH! (D) <
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(A) i, i and iii (B) ii, iii and iv
(C) all the above (D) iii and iv only
18. All triangles are similar.

19.
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15 e coded as
(A) 50 (B) 48
(©) 58 (D) 68

16. A current of 0.5 A is drawn by a filament
of an electric bulb for 20 minutes, find the
amount of electric charge that flows through

the circuit.

(A) 300 Coulomb
(B) 600 Coulomb
(C) 2400 Coulomb
(D) 20 Coulomb

17. Readthe following statements with reference

to features of Kashmir Himalayas.

I. . They are famous for Karewa formations.
ii. Karewas are the thick deposits
of glacial clay and other materials

embedded with moraines.

iii. They are useful for the cultivation of

Zaffran.

iv. Srinagar, the capital city of the state
of Jammu and Kashmir is located on

the banks of Jhelum River.

Select the answer code :

(A) Isosceles
(B) Equilateral
(C) Obtuse angled
(D) Right angled
In 2016-17, Haryana GSDP is growing at
(A) 6.7 percent
(B) 7.6 percent
(C) 8.7 percent

(D) 10 percent
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if ©ONE’ can be coded as ‘34' then ‘TWO’

15.

16.

17.

18.

19,

T, i
g'ONE' F R 94 3 oy w0’ FE

(A) 50

(C) 58 (B) 48

(D) 68
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(A) 300 e
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77 qarell o1 Hie ST R |

i, 3 ¥ Iy & AT ST R |

v, i, S 3TR eI SR TS e
HFmuPa |

ERIETACIELE

(A) i, ii 3T iii (B) i, iii T iv
(C) J=a msfi (D) iii 3 iv e
T ERCRS LI AR
(A) wHEETg

(B) wHeTg
(C) 3ifereRepivr

(D) TmeRIv
2016-17 4, 3@ it GSDP

WS & R
(A) 6.7 gfavrg

 (B)" 7.6 g

(C) 8.7 vfdwm
(D) 10 yfevr
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pHn 2018{1) (n0)
muumunmnmnuumuull nclude all the exCis® | 20. TG H 7 Srarrrt) ypeeparreh areqd v
2 GsT ¢ rY 9 9°°ds' Ftﬂg?olilt)wmg qﬁ%lﬁﬂﬁiﬁgﬁﬁﬂm%ﬂ'{ sﬁqaﬁmsﬁ
a
duty_ &7 commodites out Eﬂfﬁm S
\ pamCU‘ ars. - . 3= éh:ra
’ . Highspeed diesel (ATF) . 3T TG 34 (ATF)
ji. Aviation Turbine Fue iii ﬁ@’fi}mq
iii. Petroleum crude iv. W ffe ﬁ‘@a
. it or petrol
. iv. Motor spiri v. WTehfae g
| v. Natural gas
. Choose the right answer given below : = fean e wh s
X o B iandii (B) ii,iiiand v (A) i, ii AT i (B) i, ili 3 v
g © Liiandv  (©) All the above (C) i,ii,ili v (D) I weft
(o)
21, Theequationsax+9y=1and9y—-x-1=0} 21. GHISHT ax + 9y =1 3R 9y —x — 1 = 0 TOH
represent the same line if a = WHEde AR a=
A 1 (B) -1 (A) 1 (B) -1
©) 9 ~ (D) None of these C) 9 (D) T ¥ HE T
92. Consider the following : 22, Trafefas w feem =
1. Sambhar lake is a salt lake. | 1. IR e Tavia sfia ?
2, Chilka lake is a fresh water lake. 2. Taeem #ie e urh <t 3w B
3. Vembanad lake is a back water lake. 3. dere 3w yvs w2 R
Which of the above is /are correct ? I WY RH-TT TR R ?
(A) 1and?2 (B) 1and3 (A) 132 (B) 13iR3
(C) Alitheabove (D) 3only (©) 3% usht (D) e 3
23. lf mcot A =n, then the value of
msinA—ncosAis 23, zﬁr.{%mm n, @ MsinA- NCOSA
NcosA +msinA ncosA+ms|nA
2, cop n% +m? e
n-m nz_mz o nt=m
2 _ 2 2 2 2 . )
(C) m” —-n n_ C m® —n . n
m2 +né (D) m+m2 ©
24. Haryana is situated between 24,
(A) 27°37' to 30° 35' North latitude (A) 27° 37" ¥ 30° 35' I W
(B) 37°37 tQ 30° 35’ North latitude . (B) 37° 37' '@ 30° 35’ I &
(C) 47° 37' to 30° 35’ North latitude (C) 47° 37! ‘é 30° 35' 3—‘:1-& m
(B) 87°37' 10 30° 35' North latitude (D) 57° 37" & 30° 35' I A&
-5- : J

e S

o 2
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three parts. i-€-

among t
25. ;’Y\:gedmdlan S
Hindu, Muslim
() James MUl
(B) Warren Has"S>
(C) Sir Thomas Smith

(D) Annie Besant

d girls on the

d some boys an
tes son. The number of boys was
number of girls. He gave

Rs. 10 to each boy and Rs. 20 t0 egch girl.
If tﬁe total amount distributed by him was

Rs. 280, the number of boys was
(A) 25 (8) 10
(C) 8 (D) 15

. Amaninvite
birthday of hi
2 |ess than the

Two coins are tossed simultaneously. The

27. .
probability of getting exactly two head is
1
o ® )2
1 1
© J o /4
28. Three cubes each of side 5 cm are joined
endto end. The surface area of the resulting
solid is
(A) 15cm?
(B) 175 ¢cm?
(C) 350 cm?

(D) none of these

29. Rabi crops are SOWn at the end of
(A) October

(C) December

(B) November

(D) January

30. The 2018 ize |
Medicine isr\cl:ggfeelrlzgztz "R
(A) Michag| W. Youn
(B) Tasuky Honjo :
(C) Michag| Hosbash
) Jeffrey o Hall

ysiology or

26.

27.

28.

29,

30.
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H F. 10 %2?@%'3@“‘4’ :
o s s e
e RERUREY 2807, 7 -
(A) 25 |
(B) 10

@ 8 (D) 15

< Tl 9 o Ty |
il %B?W‘m%lﬁ’i@
" ® %

o % ©

5 Tl ST T o o

| afomTHt S 5y Wﬂ%m%w
(A) 15cmz

(B) 175 om

(©) 350 cme

(D) T A FrE 7

wh i e e
T R

- (B) T

(C) fewar ) et
forfepeen an sfwet 3 & 1 2018 1 A
T

(A) HTehd Sy 3

(B) WRgE Bis

(C) firdr T

(D) T . e
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31. If p? - 6p + 7 is divided by p — 1, the

===m=wl=hﬂm1

31. afe pz—6p+ 7% p -1 A fawnliva T s an
remainder will be 2, @ 9 B
(A) Positive (A) Y-TTcHh
(B) Zero (B) A
(C) Negative (C) '?h“l_h’qaﬁ
(D) None of these (D) =8 | I3 7
' 32. The most important distinguished feature | 32. TR % T &g 6 Taiftes fire sik
m of the Federal form of government is RECEURE R TR
E, (A) Having Supreme Court in each (A) mmﬁaﬁﬁm
) - State 3 )
C (B) Having two citizenship, one at the (B) & AFTIGERATS, BT, U ¥y TER 3R
b Central Govt. and another at the State E@'ﬁ U GG 6l
Gowt. . X
(C) Distribution of executive powers © : il < o e T et
equally between Centre and States S
(D) State govemments vested with the power (D) TSI Wil # oy o ThTcHS: AT
of seceding from the union or federal YUk BTH A Bl 3 )
If‘a' means‘+’, ‘b' LR P ) 1_:.| . [ ] L, Ly £y ooy
o mea menmzesarc\;ss d’ acbr:\gar;ss “and 33. 3fe ‘a,ih‘l a1 + b’ =T 319 =, 'C’ T 3} o
A) 55 ' 2ite o' 33 XA 25c5d8b10ats~
(c) 44 i (A) 55 (B) 40
© ) 48 (©) 44 (D) 45 e Y

S years ago, father's age was 5 times as |

: 34. '
old as his son and after 3 years, he will be e ‘ﬁﬁ'a'r ﬁ R il AIH 5 Ton

: . ; M, 3T yva R oy
3times as old as h . Find Y T A 311 =07
R0 of as his son. Find the present 3 T Bt T h Tl e ?rﬂ
(A) 10years (A) 1094
(B) 13years (B) 13 9%
(C) 12 years ' (C) 129¢
(D) None of these | (D) T YR
If2isa zero of poy ial p(x) = 4x2 + oy _
then value of in:noma i 43(2+2X il ;ﬁagf mpéx) =4x23-2x—Sa$TQ?\W¥B
(g) > B) 4 . (A) 5 @B 4
S ®) <408 Q) s O -4
The Haryana Municipality (Amendment) Bill | 36, ERETTITET (Goem) et
was passed during the year - T4 & R i e
(A) 2014 (B) 2015 - (A) 2014 . (B) 2015
C) 2016 (D) 2017 (C) 2016 (D) 2017 .
-7~ ‘J
S N ENECRNY
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41.

38.

3.

40.

ateme® " rs of

hichis different from the other

the term Wi . (
::?:e among the four options given below.
(A) Ink (B) Paper
(C) Pencil (D) Cook
Bhuteshwar temple is situated in the
district of '
(A) Bhiwani (B) de'
(C) Jajjar (D) Panipat

Bugyals, a unique type of vegetation found

in Himalayas is the

(A) Summer grasslands in the Himachal
region

(B) Summer grasslands in the Sikkim
Himalayas

(C) Summer grasslands inthe Arunachal

Himalayas

(D)

Summer grasslands |
S in the East
mountains =il |

The solutions of s
ystem of equat;
ax+by-a+b=0ang bx_q Hions

https://haryanajobs.in

are ay-a-b=0
(A) X=a+b,y=a__b
(B) x=-a4p
Y=-a-~
©) x=1,yeq HEEE
(D) x=0.y=0
-8-

I|IIl||I|I|IllI!IlIIIIIII|||I|||||I '
} . E:gmﬁwﬁ: II|||I|l|IlIlﬂ||||
1. 39 50 T I S ofy
SN
p T e T e sk
mm’mmm?@% ,
et e b
3 F Tk 9IS 99171
s ﬁiﬁa?ﬁnawmﬁ
() T FrETd S
8) - ﬁm'm
(C) el ﬁ—raqaw
(D) TH ¥

e g e e s
Yy -

(A) el (B) ==
c) d (D) TErgE
39, SR A 51 & R
(A) frart (B) e
(C) TS (D) uriTd

40 T, femed # U SR Al W sy
TR T Tt &

(A) Terera & & viten w3 Hem

(B) Thfenn femmer © 1fion wrg 3 fem
(C) srevmaer feumera © 1y wrd o AeH
(D) gt werfeat # wften wr & Hew

41.
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42. Select the correct statement from the

43.

44,

45.

46.

(C) 1919 GovemmentofIndia Actintroduced

following.

(A) Heterotrophs survival depends directly
or indirectly on autotrophs.

(B) Carbohydrates are stored in the form
of glycogen in plants.

(C) The process of acquiring oxygen from
outside and use it in breaking down
of food source for cellular needs is
photosynthesis.

(D) The complex substances are broken
down into simpler ones for the growth
of the body using biocatalysts called
lipids.

Which of the following is incorrect ?

(A) 1935 Government of India. A.ct
provided for establishing Provincial
Public Service Commission

(B) 1909 Governmentof India Act provided
for separate electorate to Muslims

for the first time bicameralism and
direct elections in the country '
(D) 1947 Independence of India Actprovided
fortheinduclionoflndiaintooorm\onwealth
group of nations (Commonwealth)

In Haryana, the district Which gets the lowest
rainfall is

(A) Faridabad

(B) Rohtak
(C) Sirsa

(D) Hisar

Find the missing term (?) from th

e options
formMQ, 2, AE, HL, 0S, Vz. :

(A) TX (B) SX»
©) T2 D) T
The ancient epic of Haryana is
(A) Rigveda |

(B) Bhagavaq Gita
(©) Yajurveds'
(D) Osho
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Arefarfae # =& waw g .

- (A) T e AT 0 T Y T 6
Sfie 7 % fere fait w&d 81 :
reiteTsde N # wrEeE % w9 §
i T B
ﬁ%ﬁﬁﬁ(mﬁﬁ
srqufed & TANT SR hl UihaT SeRT
YNl B ,
et TaTel TR oht g < fore et waed
% ffie T SeRaRe & gEEaT |
GICASIGRS]

43. FfaRag ¥ & He-a1 s 2 7

(A) 1935 T T it sicfra e
AT ST hY T @ T

(B) 1909 1 1w TR afform e
< o1 o5 el o e e
(C) 1919 %t e TR e & 3y
NSRRI S e Y
J[RATT i '

(B) 1947 W %Y Tagaay Ffufrm 3
gﬂﬁﬁsﬁ%mﬁmﬁw

(B)

(C)

(D)

44, Mﬁmﬁw%ﬁmmaﬁWM%
(A) wiemErg

(B) o=
(C) T (D) f&ar
45, :?' % AE, HL, 08, vz & W 92 (?) I
|
(A) TX (B) SX
©C) 12° D) TY
46, mmmw%
(A) e
(B) “aq ey
C) agde
(D) =N
-9- y
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Eﬁ?

(B

- ,
©) wazrieg wrreEd
©) 31, 3. . =W

8. %ﬁ?%%aﬁaw-mﬁm%m

(A) 1,1,2,2,3,8, .
(B) 0.3,0.33,0.333, ...

11 1
© 7w

(D) V3,12,+27, J48,...

£ { for 2017-18 was |  49. 2017-18 & fTT A T a7

| ;;i;?:". Udge mng_{@w'

Vinister (B) Chief Minister (A) ﬁﬁnsﬁ (B) Fersh
finister (D) Home Minister (C) YA (D) TewE

tatch the following with their pairs.

1. Blanket of air which | StaHed 1. Gedltohl STaia sHaTeT

surrounds the earth - dTg T IR
3 2. Domfain'of water f I 'q'lgusa o SeT F S
B ﬁlf‘gf;f”a”"m“ I, Semed 3. geeht o e 9|
onment 4. Our surroundings V. W ’ 4. gqﬁ?ﬂﬂaﬁz
5. Narrow zone where 5. méﬁ,m%@,aﬁ
land, water and air IR EIR!
; interact m%r%
o o, S hcardranian
‘ ¥ off gy

surroundings

!u@i v W%‘c’ﬂﬁ'ﬂ,’
» |v:2 (A) 1-2 ll-5 W-3 IV-6
i iy B) I-5 -6 -1 V-4
i C) I-1 -4 mM-2 |v-3
D) 1-5 -1 l-2 V-4
PLOrS s to 51. mmmm %l

(A) HEh T Yl ST
(B) &l =1 et T
(C) 1= =T a1 AT
(B) T0T T T STy

- -10-
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9. Find the mlssmg number in the sequence
-l 4,9, 16, 25,36, 7

(A) 47
() 72

(B) 49
(D) None of these

53. Prithviraj Raso was written by
(A) Sursagara (B) Chand Bardai
(C) Panipath (D) Geethagovinda

What are the values of y if the distance
between the points (2, y) and (— 4, 3) is 10 ?

(A) 11and-5 (B) 2and3
(C) Oand1 (D) None of these

Kavi Maldev was a _ poet
of Haryana.

(A) Sanskrit (B) English
(C) Urdu (D) Hindi

The capital city of Haryana is
(A) Ambala (B) Chandigarh
(C) Rohtak (D) Karnal

A gertain number is 4 times the sum of the
d|g|t.s. If 18 is added to the number, the digits
get interchanged. Then the number is

(A) 42 (B) 24
(C) 36 . (D) Noneof these

58. The non@etalwhié:ﬁl iu|d , t,ure is
(A) lodine i (B) Bromine .
& (C) M«@C "Af/." Chl

59, Wﬁ’é} ';,55.@“} of two circles &
e5 (m W-}j;ﬂ) >V f“v‘
which has circumter

the circi U)"ﬂlﬁr nce O

1T heAs

(A) 19cm

1\ 40 ~Ar
(C) 16cm

Scanned by CamScanner




‘https://haryanajobs,i

T

e

: 4/2018 (1) (M10) plane mirror 13 61. T eel.
61. An image formed bY @ @Tm
always . Tt wferferst
(A) lllusionary image (B) Ay
(B) Virtual imagé Eg; quadi gfefes
C) Real image
fo)) Reflection image 62, af 27 ST ! GHAR QIT,? a1 3t ArE #H
t .
62. If August27"was Monday , then 14noftha 14 i@ 1 H-A1 T o
. month was on (A) AR (B) AR
(A) Monday (B) Tuesday (€) TR (D) AR
(C) Wednesday (D) Friday
: 63. grom &1 T4 UE €
63. The state bird of Haryg;a '; e A) AN (B) draT
> Peacock a . o et
: ((é)) p;eon (D) Black Francolin (C) he[dl . (D) Ik
he governor of Haryana is appointed by 64. gmg ltqmlull a%f ST h ﬁﬁlaa
7(A) Prime Minister (B) President (A) TewE (B) Tsafd
7" () Chief Minister . (D) People (C) Tt (D) =
" 65. Goddess Bhawani Amba temple is in 65. et Y afa w1 Wi ¥R
(A) Rohtak District (B) Manipur District (A) Treaeh forem (B) wioTqR forem
(C) Ambala District (D) Gurgaon District (@) 3teTen e (D) =TT N
66. Haryana is called as the 66.

(A) Land of temples
(B) Land of flowers

(C) Breadbasket of India
(D) Pious state

67.  Star monument is the Samadhi of 67.
(A) Tarachandji Maharaj
(B) Narayana Swami
(C) Shivaji
(D) Govindh Singh

68. Which type of soijl havin
holding capacity ?
(A) Sandy soil
(B) Clay soil
(C) Loamy soj

(D) Mixture of sand and loam

g highest water 68.

-12-
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(M dvlﬂm g
(B) Kﬁs_ln]

() while

() afer
70. g __itrained a lot, we en,
holiday. ]
(A) Aﬂho gh Ay S ﬂ;~‘
B) Though A)
(c) Even though
(@) In ‘E@ of

TG .n;phO”; o t
n (D) by

moose the correct form of the veros
: ’Eq:) : '
go | Choose the correct meaning of the underlined idiom

1. What was wrong with you 2 Why : '
7 1 from the given options.

to hospital ?

(A) hagj you to

(8) did you have to
(©) mustyou

(D) should you

77. He is now a_gentleman at large living as

best as he can.
(A) Dominating
(B) Atliberty
(C) A person without any serious occupation
N Ghe R o 2 _ (D) Ordinary and undistinguished
e fromfluwhen she was
inte’rv? :

| (} ll%{:fﬁbnr;

A sensible man, as a rule, cares much,fOr
- public opinion.

(A) Whatever may be the oost 7
(B) Whatever may happen “.
(G) In reality
(D) Usually

BRI Deen suy
{:m;m red
0 Suffereq

‘ O REDMIINOIE 5 PRO
' MI'DUAL GAMERA
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T iRy feedft wrw
7
) 85.
%mmax an
N e ) 58
" A1) 86
. mmﬁ 3) 39 86.
i 3 32
() 1-31 2-3m 3-§ 4-3
(B) 1-am 2-3 3-% 4-3
(C) 1-3 2__:’; oo dedi
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